Algebra of Quadratics Homework		Name: _____________________________
Section 2.1
	#1, 2, 3, 5, 7, 14

1. Simplify by collecting like terms.
	a) 






	b) 

	c) 






	d) 



2. Expand and simplify.
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3. Expand and simplify.
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5. Expand and simplify.
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7. Expand and simplify.
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14. Expand and simplify.
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Section 2.2
	#3, 6, 15, 19 (tricky, try it out)
3. Factor, using the greatest common factor.
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6. Factor.
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15. Factor.
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Section 2.3
	#3, 6, 9, (14 if you want a challenge)
3. Factor
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6. Factor
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9. Factor
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14. Factor
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Section 2.4
	#4, 5, 9, (13 if you want a challenge)
4. Factor.  You may first need to determine a common factor.
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5. Factor
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9. Factor
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[bookmark: _GoBack]Section 2.5
	#2, 3, 4, 11
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3. Factor.
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4. Factor, if possible.
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11. Factor
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2
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a) 3(x—6)(x+5)
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b) 3a(a—5)— Qa+1)(a—7)
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o —2n(2n+1) + (n+2)?
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d 3(2x+1)2=2(3x—1)?
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a) (3x — 2)(4x +5)
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b) 5(3x +2)*
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d) —a(2a+3) +2(a+ 4)(3a+ 4)
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f) (2x+5)7+ (2x—5) = (2x—5)(2x+5)




image13.png
o (Bx+7)(6x—5)
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&) 2mBm + 1) + (m— 4)(5m + 3)
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a) (2x—y)(3x+y)
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b) (32— 56)*
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o (5m— 7n)(5m + 7n)
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d) —2(x+3y)(2x—y)
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a) 4x° — 6x+ 2
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b) 5x* — 20x
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o Sala+7)+2a+7)
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d) 4m(3m—2) — (3m — 2)
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a) 27x" = 9x
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b) —8m?+ 20m
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o 10x* — 5x + 25
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d —28—4a+6
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o 3x(x+7) = 2(x+7)
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) x(3x—2) + Bx—2)(x+ 1)
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a) Sxiy — 10x%




image30.png
b) 104263 + 20a%h — 154%b*
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o 3x(x+y) —y(x+y)
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d) Sy(x—2) —7(2 — x)
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16. A factor might be common to only some terms of a polynomial, but
grouping these terms sometimes allows the polynomial to be factored.

For example:
—ay + by —

womw * b Now you see the common factor
=alx =y +blx—y) *-y).
=@&=path)

Factor these expressions by grouping.

a) 9xa + 3xb + 6a + 2b 9 (x+y)P+x+y

b) 10x = S5x — 63y + 3y d 1+y+xty
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a) x°+ 9x + 20
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b) @ — 1la + 30
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9 m+m—6
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D 2902 — 40 — 70
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a) ¥ —T7x+ 10
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o ¥ —3x—10
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d) x*+ 11x — 60
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f) y?+ 13y + 42
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a) a>+7a+ 10
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b) —3x> —27x— 54
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o z2— 10z + 25
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d) ¥+ 11x — 60
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e x>+ 3x— 10
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f) y*+ 13y + 42
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a) xr+
3xy — 10y?
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b) @ + 4dab + 3b*
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o —5Sm® + 15mn — 10#°
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d) (x+9)?2—=5(x+y) +6
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a) 22— Tx— 4
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b) 3x> + 18x+ 15
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¢ Sx*+ 17x+ 6
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a) (x+7)(x—3)
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d) 222+ 10x + 8
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e 3x*+ 12x— 63
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£) 22— 15x+7
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a) 8x°+ 10x+ 3
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b) 6m*—3m—3
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o 22— 1la+ 12
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d 15x* —4x— 4
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e) 6n’ + 26n — 20




image63.png
f) 16x* + 4x— 6
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a) 6x—x— 12
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b) (a+6)(a+6)
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b) 8k + 43k + 15
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o 30r° — 85— 70
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d) 122° — 752° + 108n
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e 3k — 6k — 24
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f) 24y — 10y — 25
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13. Factor.
a) 6x7 + 1y + 3y° o 8x% — ldxy + 3)°
b) 5a° — 7ab — 6b* d) 124 + 522 — 40
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2. State the missing factor.
) 2 —25=(x+5)(2)
b) A+ 8+ 16= (2)(n+4)
o 254> =36 = (2)(52 - 6)
d 28 —7=()(2x—1)(2x+ 1)
o 4m’ —12m+9=(2)*
£ 18x + 12x + 2 =2(2)*
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a) x2— 36 d x*— 64 e x%— 100
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b) x* + 10x + 25 d) x7 — 24x + 144 ) ¥+ 4+ 4
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a) 494> + 422+ 9
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9 (2x—5)?
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b x?— 121
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o —8x*+24x— 18
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4 204z — 180
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e 16 — 36x°
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f) (x+1)2+4(x+1)+4
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2 — 9,2
100x
)
a)
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b) 4x% + dxy + 97
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o9 (2x—9)*—9
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d) 90x* — 120xy + 40y°
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d) (m—9)(m+9)




